CHAPTER 5 REVIEW ANSWERS
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10.

(a) carthquake; (b) volcanic eruption; (c) infestations; (d) hurricane; (e) drought
A parasitic fungus introduced by pine beetles is the cause of “bluestain” wood.
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The pH scale describes the concentration of hydrogen ions in a solution and is an indicator of the acidity
of the solution.

Carbon dioxide dissolves in water, making virtually all rain slightly acidic.
All forms of precipitation can also be acidic.

Sample answer:

Name of Pollutant Source
PBDE fire retardant
PCB hydraulic systems.
Organic solid waste humans and other animals, food processing
Dissolved and liquid organic compounds motor vehicles, agriculture, household waste
C

DDT affects reproduction in birds by causing their eggshells to be thin and fragile. The compound
interferes with calcium deposition in’ the eggshell. EDCs mimic estrogen and affect species in which
gender is determined by hormones and temperature (alligators and turdes).
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Use What You've Learned—Suggested Answers
13.A

14. Sample answer: In a forest ccosystem, a fire could destroy much of the vegetation (plants, flowers, trees,
etc.). Many of the insects and small rodents would die, while birds and larger animals might be able to
escape. The habitat for animals that survived might be destroyed so the animals would have to find new
places o live. Over time, small plants would begin to grow, followed by bushes and trees. Animals would
return, as habitats and more food became available. A flood in a forest would destroy many habitats.
Some organisms would drown and be washed away. The food supply would be degraded. Eventually,
however, the floodplain would be rejuvenated and vegetation would flourish, allowing animals to return.
Groundwater supplies would also be replenished.

15. Some pollutants are naturally occurring on Earth and are put into the air, land, or water by narural
processes. For example, volcanic eruptions produce sulfur dioxide and ash, which are both pollutants.

16. D
17. The nitrates and phosphates from the fertilizers often end up in aquatic ecosystems due to runoff. There,
these nutrients cause rapid growth of algac. When algae die, the decomposers begin to break down the

dead organic matter, using up large amounts of oxygen in the process. Oxygen depletion harms other
organisms that need oxygen to survive.

18. Sample answer: plankton (2 ppm) — fish (6 ppm) — osprey (48 ppm)

19. The pollutants must be in the air and the animals must breathe the pollutants into their lungs or take it

in through their gills.
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20. Sample answer: Because EDCs can cause individuals that would normally be male to be female, there
will, over time, be many more females in the population than males. This skewed gender ratio could lead
to lower generic diversity levels because a much smaller number of males will be passing on their genetic
information. If males become too scarce, many females may be unable to mate, decreasing the total
number of individuals in furure generaions.

21.D

Think Critically—Suggested Answers

22 Sample answer: One benefit of using biological pest control is that no chemical pesticides are added to
the environment, eliminating the unintentional killing of nontarger species. A drawback is that the
predator species used to control the pests may decrease the populations of nontarget species, upsetting
ecological relationships within the ecosystem.

23 The crop could be wiped out if no other pesticide could be found to control the pest.

24. Sample answer: Table 1

Technology How it has allowed for more food production
Fertilizers plants grow bigger and produce more fruit

Pesticides prevent pests from eating crops so that the yield is higher
Irrigation provides steady water o that farmers do not have to rely

on and ensures plant growth will not be prevented due to
lack of water

Genetically modified organisms. produces plants that are more resistant to disease and
can withstand harsher weather conditions





